



**Vendor Ranking** 

Page 1 of 1

01201203 Letting: December 03, 2020 11:00 ΑM

Call Order: 011

Contract:

E1U02-R0

District: District 1 Counties: DIST/ST-WIDE, HENDRY Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

**Project(s):** 43274417256 (\*)

Contract Desc: Mowing, Underdeck Herbicide Application, Litter Removal

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MARKS EXCAVATING, INC.	Responsive	Winning bid	\$284,335.10	100.00%
2	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$357,573.59	125.76%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$626,744.90	220.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 3

Letting: 01201203 December 03, 2020 Call Order: 011 Contract: E1U02-R0

District 1 District: Counties: DIST/ST-WIDE, HENDRY Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS **Project(s):** 43274417256 (\*)

Contract Descr: Mowing, Underdeck Herbicide Application, Litter Removal

The work under this Contract consists of Mowing, Underdeck Herbicide Application, Litter Removal and Edging.

Line No / Item ID Item Description		Alternate	Quantity Units	(1) MARKS EXCAVATING, INC.		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) T & M LAWN-FENCE SERVICE INC	
	ndicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	LARGE MACH	IINE MOWING (AC	;				
0005 MOWIN MACHI		(REGULAR/LARG	7,844.690 GE AC	16.50000	129,437.39	24.00000	188,272.56	40.00000	313,787.60
0010 MOWIN	E104 4 2 NG (SLOPE)		212.700 AC	70.00000	14,889.00	44.00000	9,358.80	200.00000	42,540.00
0015 MOWIN	E104 4 4 NG (INTERMEI	DIATE MACHINE)	83.860 AC	38.00000	3,186.68	44.00000	3,689.84	65.00000	5,450.90
0020 LITTEF	E110 30 R REMOVAL		9,769.500 AC	9.50000	92,810.25	10.50000	102,579.75	18.00000	175,851.00
0025 EDGIN	E110 32 2 G		92.880 MI	60.00000	5,572.80	88.00000	8,173.44	250,00000	23,220.00
0030 HERBI	E580337 8 CIDE (MOWEF	R APPLICATION)	1,568.938 AC	24.50000	38,438.98	29.00000	45,499.20	42.00000	65,895.40
		E MACHINE Sec	ction Totals:		\$284,335.10		\$357,573.59		\$626,744.90

**MOWING (AC)** 



12/03/2020

### **Tabulation of Bids**

Page 2 of 3

Letting:	01201203	December 03,	2020 <b>C</b>	all Order: 011		Contract:	E1U02-R0	
Line No / Item		te Quantity Units	(1) MARKS EX	CAVATING, INC.	, , ,	LANDSCAPING WN SE	· ·	LAWN-FENCE VICE INC
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$284,335.10		\$357,573.59		626,744.90



12/03/2020

### **Tabulation of Bids**

Page 3 of 3

**Letting:** 01201203 December 03, 2020 **Call Order:** 011 **Contract:** E1U02-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.